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Question Number : 1 Question Id : 4928632241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : 0

i 2 :

If f:]l.ee) = [5.0) is given by f(~")=3-‘\’+:.then 1 (x)=
| p) ,
filLes) > [5.0) w8 £(x)=37+= m ausgad, £ (x) =
Options :
l[Jr+ .1‘2—?.4]
1. ¢
X
3x% +2
> R

Question Number : 2 Question Id : 4928632242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The domain of f(x) =10g[(2.5)3_f —(0.4)‘”1 is

Options :

_ (-4.3)

(-3.4)
> of
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(3. 4)

332

{0, =s)
4 %

Question Number : 3 Question Id : 4928632243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Let n € N which one of the following is true?

neN esomo 808 FAS* JSIIRH?

Options :

47" +16n —1 is divisible by 4

L47" +16n—1 @38 4D riododod

1 ®
2(47) -3 is divisible by 9

1 2n+l 3n+l 2
2(4 )—3 38 93 A0S0

‘4" _ 3 —1 1s divisible by 11

4??_3”_1 &?3& 11 8 E,T'ﬁd:)ﬂé«)é)@&

3 %
il a2l Bl & a0 v
3(5 . )+2 " is divisible by 17
"‘ 2n+l1 3n+l 5 . o
.3(5 " )+2 "™ w38 173 v Rl (PO TRl ST T PloT !
4 ¢

Question Number : 4 Question Id : 4928632244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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S B
IfA4=|2 1 2|then 4=
2 Z 1
I B g
A4=|2 1 2| vond 41=
¢ S L
Options :
. 47— A
A-4]
2.ﬂ
1
<(4-41)
3¢
1
E(4I—A)
4 %

Question Number : 5 Question Id : 4928632245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

If x. y are any two non-zero real numbers, a; =xj + yvi.4A= (av] and P, O are two nxn

nxn

matrices such that 4 = xP + yQ then

X,V 00 A3 Dok FIZSE TRS Sopgen, Gy =.1j+_1?'.A:(aU.) 308050 P, O e

nxn

A=xP+ 0 B0t &) Sod nxn IrGEeond

Options :
P 1s singular and Q 1s non-singular

P oF5dndn 08cdn O Fedeahon

l.ﬂ
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P + O 1s symmetric and P— Q 1s skew symmetric
P+ Q3380 08an P — O SErakson

iy
'

o> of

Both P + O and P— QO are singular

P+ Q558050 P—Q e 3odr eorpdendn
3 ®

Both P + O and P— Q are non-singular

P+ Q%0050 P—Q en Bods g8 bn

4.ﬂ

Question Number : 6 Question Id : 4928632246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

2 8|«
If the system [ﬂ 7] [ﬂ = A[Z] has non trivial solution then the positive value of k and a
)

solution of the system for that value of & are

2 8|l a a "
— =k b aﬁgsﬁc‘géo e:’age%e:éd FES 408, k B0y, FTEE I NBBD © k
DV égé‘_’ﬁ BE), w8 ;S

Options :
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Question Number : 7 Question Id : 4928632247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

| (1-i)'(2-7)
The modulus-amplitude form of (2+1)(1+7) 1S

(1-i)*(2-1)

cﬁ:oézr S-S CPNY BrD0

(2+7)(1+i)
Options :
.?.cf.s(;r —Tan™ é]
1. ¢ .

2cis ( —Tan™ i]

T

. .4
2(‘.?.5(—JZ'+ Tan 1:

=

-
ﬁ

-

2cr‘s[Tan“ 4)

Question Number : 8 Question Id : 4928632248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : 0
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If z; =2-3i and z, =—1+i. then the locus of a point P represented by = = x +y in the

Argand plane satisfying the equation Arg( e ) = ':' 1S

» o3 S80I SWB0F,

| _ . _ -—: T
2,=2-3i B0 z,=-1+i ©o008 Arg{ IJ*:?

Z=x+iy B JrDodB sJoh S008°Q Doy P By Hodddo
Options :

i 2
X +y =x+2y-5=0

% %
N 9 :
s Xty —x+2y—-5=0 and 4x+3y+1<0
2. » »
- 4x+3y+1=0and x® +y?> —x+2y—5>0
3
e g B ‘
X +y°—x+2y-5=0and 4x+3y+1>0
4 ¢

Question Number : 9 Question Id : 4928632249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (
‘ 12
i N o)
l+Ccos——ism—
3 8

T ..
1+cos—+isin—

\ 8 8 )
Options :
-1
4 P
]
>
Y
3 P
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Question Number : 10 Question Id : 4928632250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

[f the complex number a 1s such that |a| =1. and arg (a) = 0 then the roots of the equation

[m: )“
{0 = arez=

' 1+iz
a o380 la|:l S08c50 arg (a) = 0 eddgltnr & augg dopg ©oNa, [1 f') =da

DabES0 B Joreren =

Options :

Question Number : 11 Question Id : 4928632251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

If x? +2 px—2p+8>0 for all real values of x. then the set of all possible values of p is

x Boo), o) RS denSo x¥+2px—2p+8>0 wand, pé FgHcdy By devse
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Question Number : 12 Question Id : 4928632252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

If the roots of the equation ( p-3)x"+2(p-3)x+2p-5=0 are real and distinct for

a < p<f and (S —«) is maximum. then the extreme value of the quadratic expression

‘—(452¢'+,6f)nr'"’i +ofix+(a—p) 15

a<p<f & (p-3)x*+2(p-3)x+2p-5=0 5Do¥S0 BwE) Sareres TRIDN

LS

508050 DPHEw, RO (B-a) K65308, —(a+8)x* +afx+(a—p) o3 5§ $3»80
S0E), Body JLOD

Optiongz
1. ® 5
5
3 ¥
—1
3 P
4
5
4
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Question Number : 13 Question Id : 4928632253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

T 5 . 2 ;
If the equation x° —7x” +14x—8=0 is transformed to 3 + py —3_(_} = (0 when its roots

are diminished by £, then p =

¥ =7 +14x-8=0 3DE6mo BwE), Srerod k B8 SRodIdYE STy H85ES

s

— 0 wond p=
57 0 wona p

d8Gw0 ¥ + py—

Options :

) | oo

UJ|--\_|I

5
3
3

-8
3
J

4 %

Question Number : 14 Question Id : 4928632254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If one root of the equation x° —9x* +26x—24 =0 is twice the other then the sum of the
cubes of those two roots 1s

. 2 5 WL - - [=]
v =92 4+26x-24=0 o3 38820 mé& 28000 NEFErorus Eo@oé@_@.
eS COD NIV DR 20080

Options :

72
1
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2
64
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Question Number : 15 Question Id : 4928632255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

There are 10 points in a plane of which no three points are collinear except 4. Then. the
number of distinct triangles that can be formed by joining these points such that atleast one
of the vertices of every triangle formed 1s from the given 4 collinear points 1s

a8 $00S' 10 DohPHoS® 4 DodoPHen &I & Kordd DovPHen SOPASren 7. &

ol

DodoPodn Fodm 63 IPS) BT oS §Ad0 wf ITIoT SVPIrT S

4 DoOYHOS'AGEghtn IHE Bhere Dopg

Options :

116

1 ®

96
3

120

35‘8

100

Question Number : 16 Question Id : 4928632256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : 0
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The number of ways of arranging 8 boys and 8 girls in a row so that boys and girls sit

alternately 1s

8 08 wrendd H0din 8 Hod wrdfolh wEOPES DEEK JsToddom SrEyR

G0l eNGHKOR e Sopg

Options :

9!

l.ﬂ

(91) (8)

> &®

"2
- (8!)

2! (8!)

4

Question Number : 17 Question Id : 4928632257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

If the coefficients of (2 + 4)"" and (-2 )m terms in the expansion (1 + x)

then o=

(1+x

Options :

676

2019
)

2019

-

el

are equal.

5608 (2a+4) § $0080 (@—-2)3 So Hovw H5rSH8, o=
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Question Number : 18 Question Id : 4928632258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: (0

If » is a positive integer then the coefficient of x° in the expansion of

” # 2
n a8 S3FE Sopg wons, (1—21‘-&-33" —4x°

Options :

(3")("4

1. &

M
9
I

w
<

-------

QS x0 cﬁwézr o

Question Number : 19 Question Id : 4928632259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: (0

d | x+5
dx| (x+1)° (x+2)

Optiﬂn§:
3 3 3
el T 3
(x+2)" (x+1)° (x+1)

1, *
i 3 B
(x+1)° (x+2)" (x+1)

S W

-
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3 3 8

g (x+2)° (x+1)] (x+1)°
o4

8 3 i 3
o (_.*c+.'2)2 (:H~1)3 (.*:r+l)2

Question Number : 20 Question Id : 4928632260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the period of the function f(x)=sinSxcos3x is o then cos o=

f(x)=sin5xcos3x Hdooho BwE) wIgdo O wawd Cos o=

Options :

4. ¢ -

Question Number : 21 Question Id : 4928632261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T 2 4 Sx Ib/4 307 |
If COS— C0S—CO0S— COS— COS——COS =x_then —=
15 5 N 15 15 15 8x
T 2 4 Sr i 30x |
COS— COS—CO5——COS—COS—COS—— =X &ond —=
15 15 15 15 15 15 Sx

Options :
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1. ¢
|
2 . 4
3
3 %
4
4 ® o

Question Number : 22 Question Id : 4928632262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

If A+B+C=2S. then
sin(S—4)+sin(S—B)—sinC =

A+B+C=2S 0@
sin(S—4)+sin(S—B)—sinC =

Dptiuns_:
o=k oI o
—4s1n Sin sm—;
1 % B ) -
il . el . 2
4s1n S1n SIn—
2 7 >
> - = 3
. S—-A . S-B 5
—4s1n Sin COS—
2 P
3 ® o 5 -
. S=A  S-B #
4s1mn Sin COS—
2 2 2
4.33
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Question Number : 23 Question Id : 4928632263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

When « is irrational. the number of solutions satisfying the equation 1+ sin” ax = cos x 15

aéﬁéo‘.’l:;_:@* 1 +sin’ ax = cosx éb&édeﬂ’&l e‘s’a’fﬁ 8B JsdSe QoS

Options :

1
1. ¢

w
&
2

Infinite

- o oa .
BROEH0

Question Number : 24 Question Id : 4928632264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Tan™ [L} +Sin‘l[ : ) = Cos 'x.thenx=

ﬁ
V3

Tan‘l[——) +Sin‘l( : ] = Cos x ewond x=

ey

Options :

1

J3

4

]
L V2

2.
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Question Number : 25 Question Id : 4928632265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (
-1 - -1 ]' . -1 > ) E-—-
coth™ 3+tanh™ ——cosech™ |—V3 | =
J
Options :

2
log

-
D

2.

0
3 ®

log3+/3
4 %

Question Number : 26 Question Id : 4928632266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In any triangle. 1f the angles are in the ratio 1:2:3. then their corresponding sides are in the
ratio

QBT (Bghoe®, Feoren 1:2:3 AQBS® G0l o8 ehdrdihere ARG

Options :

l:ﬁ:l

1. &
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Question Number : 27 Question Id : 4928632267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

Two ships leave a port from a point at the same time. One goes with a velocity of 3kmph
along North-East making an angle of 45° with East direction and the other travels with a
velocity of 4 kmph along South-East making an angle of 15° with East direction. Then the
distance between the ships at the end of two hours 1s

Body Lo o LE0HO a8 Doty Dol 28 JMocos® wohendTrow. &THgo
Jowd 81y &¥S° 45° Swo B[I: 38.0./M0. Iod 288; whHoho Jowd ErdEIE
15° §%00 [ido 48.20./K0. BKos® HTEL PHalrediyTon. BoKobe SSHT8 & Dol
Lo gy drdo

Options :

N

10

Question Number : 28 Question Id : 4928632268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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InAABC, ritrytis =

ﬂ "XBC Q.Jﬁ. I‘1+I'2+I‘3 >

Options :

4R

1. ®

- 4R+

4R—r

3 %

4R+s?

4.33

Question Number : 29 Question Id : 4928632269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : 0

In a quadrilateral PQRS. A divides SR 1 the ratio 1:3 and B 1s the mid pomnt of PR. If.

3SR —QR —3PS—PQ = kAB. then k=

PQRS sSéodgzos’, SR % Aeds 13 ah
Do B. 3SR —QR-3PS—PQ=Fk

Options :

2

1. %

AB won8. k=

08 %8050 PR G0, So6s

Question Number : 30 Question Id : 4928632270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : 0

-
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It is given that a@.b. are vectors of lengths 6. 8. 10 respectively. If 7 is perpendicular
to (5 - F). b is perpendicular ‘(F +a):and 7 is perpendicular to (E +b ) . then the length

of the vector 7 4+ J 4+ 7 18

G.0.T e Sddm 6, 8. 10 FEJeo Ko ShFouT RBEOD. (E+F) 5 oo™ 7.

1§

r((_‘+a_) £ ©onom b S08050 (54—5) & wonom ¢ &od, I§+5+F 0¥ g), PEY

Options :

Question Number : 31 Question Id : 4928632271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the direction cosines of two lines are given by / + 3, +5n =0 and 5/m—2mn+6In=0-
then the angle between the lines 1s

Sody dYFope HEF DO 1+3m+5n=0 500050 Shn—2mn+6h=0 e@ogirtnmn
a0 Sc0d8, edpe Koy o

Options :

Cos™ [ l)
6

Cos™ [ l]
3

1.

> &
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Question Number : 32 Question Id : 4928632272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cnrrm‘:t :1 Wrong: 0 .
If @.b.c.d are 4 vectors such that @-b=0. FX?|=‘E||F|.|EX(7|=|EH(7}. then

sGogotam od [bTd =

a.b.e.d o a-b=0, |[axe|=[a|e|. axd|=lal|ld

4

Question Number : 33 Question Id : 4928632273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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If @.b.c are three non coplanar vectors and 7 is any unit vector. then

,‘(5.J)(Exz)+(E.3](an)+(;(y](ﬁxg)‘ "

.h.Teoo Sords o3dass $6Fw 508050 q ©38 BT BorAE S6¢ wond

‘ 5.3)(5)(?‘")+(5.§](_xﬁ)+(z.3](5x5)‘ N

, =]
5]
{[e5e]

Question Number : 34 Question Id : 4928632274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Ifthe line 7 =g +1b is parallel to the plane 7 =c+1d +me . then

F=a+th $6¢8p F=c+Id +me -8 ddrodsor &ol

Options :

‘[a_ be|=0
1 %

[ped]=0
> 8
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Question Number : 35 Question Id : 4928632275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

The mean deviation about the mean for the following data 1s

§08 B0TA8 0PI W0d JPg oo

= % A& % T B3
e o @ I 8 B
Options :
6.3
1 ®
i L5
2.83
3 ®
1.733
4 ¢

Question Number : 36 Question Id : 4928632276 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

If the coefficients of variation of two distributions are 40 and 20 and their variances are
144 and 64 respectively. then the mean of their arithmetic means 1s

B0 dzreare dvoTosren 40 508050 20 508050 ¢S S)Qy"’ e oo 144 506050
64 o8, T8 wosMGgire JoggHbwn
Options :
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Question Number : 37 Question Id : 4928632277 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

A number » 1s chosen at random from the natural numbers 2 to 1001. The probability that
n 1s a number that leaves remainder 1 when divided by 7. 1s

2 3006 1001 5680 e Sz Sopge 00d w8 Jopg 1 & INBT)H. wod n I
7 88 rhoddHyd 3250 10 o) dopg 55T A8 dogr

0083 ;’Jgé
Option1s:
73
% 500
g3
1000
> &
143
1000
3 ®
71
500
4 ¢

Question Number : 38 Question Id : 4928632278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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5
If 4 and B are two independent events such that P(B) = - and P (A v B C) =0.8 then

P(AUB)=

A, Be3d P(B)=—= 5805w ‘P(AuBC):o,g gt wod Bodd Hdold Hododen

~1|

Question Number : 39 Question Id : 4928632279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

In a certain recruitment test with multiple choice questions. there are four options to each

question. out of which only one 1s correct. An mtelligent student knows 90% of the correct
answers while a weak student knows only 20% of the correct answers. If a weak student
gets the correct answer. the probability that he was guessing is

2TVFIE @Ho o w8 A0Y &N AoSrdoE J0ES° Ho 8 PH% Treuid DYFO
Gotron. TES® wiS Sr@ 0GRS JIrTIST . BOD Ko Jogds 90% HHok,
S0BES A ds 20% DHoB SO JSrTTw Sw. Sf‘(}aéwété DT g0 OIS
QAT RNWNIYE, ©8 GFIT0N NN VATFTR0 FITVE S0l

Options :
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Question Number : 40 Question Id : 4928632280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (
_ o 3 .5 . s
If the mean and variance of a Binomual variable X are = and i respectively. then P(X >1) =

N |
E;\
]

28 BN Fourd X Bwg) Hegiotsnn Sodain e SHIm

PLX »1)=
Optiong -

-~
R

16

Question Number : 41 Question Id : 4928632281 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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If a random variable .Y follows a Poisson distribution such that P (X =1)=3PX =2),

then P(X =3)=

TS Jeraad) eS8 el cirdylE Sows X, P(X =1)=3P(X =2) eyt
&ol, P(X=3)=

Options :
4 2
N ¥

L B
5 2
v 3
81

> R
| 2
2 oA
— e 3
27

3 &

2

e 3
81

4 ®

Question Number : 42 Question Id : 4928632282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Let -Q( x;. 1, ) be a variable point and R (1. 0) be a point on the circle -xl +3>=1and Pbe
the mid point of OR. Then the locus of the point P1s

W2 +y7 =1 5380 O(%.0) a8 56D0sP 5600 R (1, 0) a8 Dodh. OR B,
DGy VoY P edosvorro. dvd Doty P Bng), Dok S0

Options :
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' b
x2+_1-'“ +x=0

2.2

9 9

X“+v +2x=0
3 % ;

» :

X +y —x=0
4

Question Number : 43 Question Id : 4928632283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

The point P(3. 2) undergoes the following transformations successively

(1) Reflection about the line y = x
(11) Translation to a distance of 3 units in the positive direction of x-axis

(111) Rotation through an angle 1 about the origin i the counter-clockwise direction

P(3. 2) 3 Do §od 203dSedH Fdoddgomr dokoshod

(1) y=x3p &S)pg So°58S0
(i) regd &5 6F Jowd 3 Il ErodE SEr08S ©f H85ES0

v/
(111) ©IJ53HFS” Sorododoyh Eyrs = §’0008° w§gSo00

Then. the final position of that point 1s
VN, & DoWY BWE), VOBTI0

Options :
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Question Number : 44 Question Id : 4928632284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

The equation of the straight line which is perpendicular to the line 5x — 2y = 7 and passing
through the point of intersection of the lines 2x+3y—1=0 and 3x+4y—6=0 is

Sx—2y =7 3% wonor wotar, 2x+3y—1=0 08050 3x+4y—6=0 dpo P&
DoBY HooT P I3 HDEBwo
Options :

'2:1‘+5_1'—l7 =0

1. %

2x+5y+17=0
>

2x+5v+47=0
3 %

Question Number : 45 Question Id : 4928632285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

The angle between the line joining the points (1.—2).(3.2) and the line x+2y—7 =0 is

(L=2).(3.2) Botoe Koadidh 2688 $o80%0 x+2y-7=0 36680 HH&s S0
Options :

0

1. ®
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Question Number : 46 Question Id : 4928632286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The vertices of a triangle are 4(1.7).B(-5.—1) and C(-1.2). Then. the equation of a

bisector of the ZABC is

Options :
X—-y+4=0
1. ¢
xX+v+4=0
2 %
2x-3y+6=0
3w

x-2y+4=0

Question Number : 47 Question Id : 4928632287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Let 3x% +8xy—332 =0 represent the lines L,. L, and 3x° +8xy—3y" +2x—4y—1=0
represent the lines L;. L, . Let L be the line joining the points of intersection of L,. L; and
L,. Ls. Then the area (in square units) of the triangle formed by L with the coordinate
axes 1S

'3:‘:2 +8ln_'_3.1.‘2 :0 EﬁJ“i’JUﬁ _é‘ﬂ.]m Ll" Lz D0 80300 3.1'2 +8.‘l‘_]'—3_1-‘2 +2T—41'—1:0
SoroB Spen L, Lyedosoomro. Ly, L3580 L, Lyo podd DodHeoss §070 S L
508000, VI AErITTes L 658 8 Irege ($88) ohrdvs’)

Options :

b | =

Question Number : 48 Question Id : 4928632288 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The equation of pair of lines passing through origin and forming an equilateral triangle with
the line 3x+4y—-5=0 is

3x+4y-5=0328 S0erHv (BeHeErd) 80T, Sore Do) KomrFed O3 03007§)350
G0, D¥S00

Options :

39x2 +115% —96xy =0
1. ¢
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; 2
x“+y —4xy=0

2 2
x*=Txy+12y" =0

| 2 2
2x% +6xy+ 3> =0

Question Number : 49 Question Id : 4928632289 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

From a point ‘A(L 0) on the circle ‘xl 3 .1-3 —2x+2y+1=0.achord 4B 1s drawn and 1t 1s
extended to a point P such that 4P =34B. The equation of the locus of Pis

42 —2x+2y+1=0 580D o DocoP A(L0) H08 arg AB D A%, AP =34B

-

edglotn TAV PHodY SE8 2ENR, P Bwng), DocodEdadddeo

Options :

B a
x“+y"=-2x+6y+1=0

1. ¢

o

X4+ v —2x+4yv+1=0
- ; .

. .

¥ +y —-2x+8y-8=0
32‘&

g 19
x“+y —=2x+3y+1=0

Question Number : 50 Question Id : 4928632290 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (
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The tangent at 'A(—l. 2) on the circle '_1—3 @ _1-2 —4x~By+7=0 touches the circle

x* + 1% +4x+6y =0 at B. Then a point of trisection of 4B is

'xz V2 —4x—8y+7=0 &3 SEoD Ko 4(-12) 55 AbS 58
X2 +° 2 L Ax +6y=0 T B I5E P30, @iy 4B JwE), o8 8T 8dn Do

Options :

Question Number : 51 Question Id : 4928632291 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

If C, and C, are the centres of similitude with respect to the circles

X2 +y° 2 _14x+6y+33=0 and ¥ +1 +30x -2y +1=0 then the equation of the circle
with C,C, as diameter 15

X4+ y" —14x+6y+33=0 D00 x* 43> +30x-2y+1=0 SEe Sy C; 50850
C, oo d8rSBomroond C,C, argdomie S8 Saodno

Optiuns

2x° +2y° 2 +30x — 33y—-17=0

2x2 +23% —14x+9y-13=0

22
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+2y"=39%x+14v+74=0

+2y* —24x+8y-5=0

Question Number : 52 Question Id : 4928632292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (
If tangents are drawn to the circle v + > =12 at the points of intersection with the circle

x* + y> —=5x+3y—2 =0 then the ordinate of the point of intersection of these tangents is

492 =12 o3 58, ¥+ —Sx+3y-2=0 &3 5B50 podod DodPo 3¢
HRS BYY) Spe Podd Doy BnE), P-ASEFHESW0
Options :
18
L¢3
12
2. % 5
9
3 ® 5
&
3
5
4 ®

Question Number : 53 Question Id : 4928632293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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From a point P on the line 4x—3y =6 two tangents are drawn to the circle

| ; 1 24
X2+ 3% —6x—4y+4 =0 If the angle between these tangents is Tan™" (7] .then P=

4x-3y=6 oI JH6¢8p b .8 Doy P Hood Ix2+‘1'3—61‘—4‘1'+4:0 SRS
| )
Bods HGopen Avard. & HEope ey Soo Tan'l("—;] wawd, P=

Options :

Question Number : 54 Question Id : 4928632294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If (=1.—1) is the focus and x + y+4 =0 is the directrix of a parabola. then its vertex is

(-L-1) & odmdo 50050 x+y+4=0 & Jch&pmH 085 STSecho G0,
585
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Question Number : 55 Question Id : 4928632295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

If a normal chord of a parabola y* = 44y subtends a right angle at the origin. then the slope

of that normal chord is

Id

oo =g w8
Options :

+2
1.

H
()
ey

2 ®

1
3 % ﬁ
4 ¢

y* =4ax ©3 3o

G

00800 TN, &

Question Number : 56 Question Id : 4928632296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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If origin 1s the centre. X-axis is the major axis and = 1s the eccentricity of an ellipse

-

which passes through '(_ —3.1). then the equation of that ellipse is

|2
SorodonH SoBdomdo, X-05Q) 5%5@?& 200030 \/; 0 ﬁéba@émcﬁa 0N,

(-3.1) DohPromIah SESyEo BwY, HDogsma

i 7
2x“+y° =19

5 -
2 2
v? +23y2 =32
3 %
"9 7
x“+2y° =11
4 w

Question Number : 57 Question Id : 4928632297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
2 2

: r ¥ Semen ;
The slope of a common tangent to the ellipse = + '4 =1 and the circle +% + _1-3 =16 1S

i b)

: S | 5

10t =1 ©R 88, a8 woae x¥+)? =16 €3 HETIE fo o GBnd K)o
J° e
Options :

5
Vit

1. ®
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Question Number : 58 Question Id : 4928632298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

The distance between the tangents drawn to the hyperbola 3y> — * = 3. that are parallel to

the line y=2x+4 is

’
3x°—y* =3 @3

J
-
ea

G

:‘"‘.

SIT50E578, v=2x+4 &3 I8 IS3ros8domr GoBlodom
o

C

Add Hddpe Dy

Options :

i
J5

.

"2
2.~v"’ﬁ

Question Number : 59 Question Id : 4928632299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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If the distance between two points 4 and B 1s d. and the lengths of the projections of 4B on
the coordinate planes are d,. d,. d; then

A 550050 Beld Do gy Srdo dBodosn 8T oo 4B Bws), von JEFe
DEYHen dy. dy. dy 0008

Options :

2d* =d" +d,* +dy°
1. ¢
> R

+d13 +d,? +d;* =d?

3 8

dy+d,+dy=d

4_ﬂ

Question Number : 60 Question Id : 4928632300 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

L 1s a line passing through the poillfA (1.0.-3) and parallel to a line having direction ratios
0. 1. -2. P 1s a point on the line L which is at a miimum distance from the plane
2x+ 3y + 5z =1. Then the equation of the plane through P and perpendicular to 4P is

L &386 .A(I.O.—S) Do Momdrdr, 0,1, -2 0 65 A& o o pd Sdroddor

o8 Bp. Poldd 3 L wobar, 2x+3y+52=1 S8 8] &rdos® wotnobd.
wond Phomdsr, AP 8§ wonom ¢od dwo Bw¥), S8

Options :

y+2z=12
1 ®

y=2z24+4=0
2.
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Question Number : 61 Question Id : 4928632301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Let 7, be the plane passing through the points (0. 1. 2). (1. 0.-2). (-2. 1. 0) and 7, be the
plane passing through the pomnt (1. 2. 3) and pelpeud1c111a1 to the planes x+ v+ z =1 and

2x—3y+z=5.If0is the acute angle between the planes 7, and 7, then cos 6=

(0.1.2), (1.0.-2), (2. 1. 0) oo Hom FHEo ) )’I'l O, (1,-._) Doy Hod
FSEr x+v+z=1, 2x-3v+:=5 doroH vonom &od ST Jrz O VNBOTO

7Ty . T, Sore HFgio oo 0 wand cos 0=

Options

T
4% 4

Question Number : 62 Question Id : 4928632302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

. CoS4x—4cos2x+3
Iim A =
x—0 X

Options :
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Question Number : 63 Question Id : 4928632303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

I 7 x-2" —x dr[)’ 7 v-2' —x |
&=L an =t : : then
x—=0 ] —CoSx x—0 Jl+r2 _,/1_‘,[.2
x- 2" —x R
a= Lt 5000500 = Lt — e 90008
x—0 ] —cosx P x—0 ,l P S /1_ 2

Options :

1w
a=2p

2.
a=?
2

3 %

Question Number : 64 Question Id : 4928632304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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It f{x)= 4;;|Y‘.xe R then f'(0)=

5D [

3

lw

Question Number : 65 Question Id : 4928632305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

. , | . alftx)—2
If fis a real function such that £ (4)=4 and f’(4) =16, then 1 J3 >

feda f(4)=4 500050 f'(4)=16 edhghint & 83 HIrckhoons,

e

x—4 JT i
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Question Number : 66 Question Id : 4928632306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

7

If1_1--_-(Si11'12x) (Cos ) . then (1 4\’) y—4x )y =

2

y = (Sin'1 2.11']~

Options :

+(C05_12x)2@m§ '(1_41‘2 )‘1'1 —4xy, =

Question Number : 67 Question Id : 4928632307 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Let f(x)=x"+2x* —x be areal valued function. Then the value of Lagrange’s constant
Cmm(-1.2)1s

!

f(x)=x" +2x" —x ©38 2.8 05 Soreg ERcbanostomro. eand (—1.2) &° yrod
QT 0830 € Jend

Options :

'—4+J%

ﬁ
ke
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6
3 %
l—2+\f1_9
6
4 ®

Question Number : 68 Question Id : 4928632308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong : (

: | 2‘.
On I cR-{-11}, [Tan™ ( 1_“2) dx =

' | & 2x
ICR—{—I.I} ';'3 ITHH 1[ }]d’\‘z

1—x°
Options :
=3 - 2x >
2x Tan ( .,]+log(l+x“)+c
1—x°
1 ®
| 1 2x 2
x Tan™ ( ,)-log(l-x“)+c
l—x~
> R
| il" 2% >
x Tan™ ( .,) —log(1+x“)+c
1-x7
3. ¢
% Tan‘l[ x 7) +log(l—x3)+c
l-x°
4 8
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Question Number : 69 Question Id : 4928632309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The angle between the curves y =sin2x and y = cos2x is

y=sin2x D00 y=0c0s2x JFw Dy S0
Options :

x_ rTan'I\/E

1.

1 =159
- Tan -\/:

2

LTaI:l‘l [%]

Question Number : 70 Question Id : 4928632310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The ratio between the length of subtangent at any point other than origin on the parabola

> =164y and the abscissa of that point is

y® =16ar €3 JTE00R SwreDolHYPT BT Dot I Ho GHAY) PoT S,

& HoloY AW, x-ArIEE o IS

Options :
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Question Number : 71 Question Id : 4928632311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

dx
‘[\/(3‘—1)(.1‘—2)

w
<

Sin™! (3-2x)+c

Question Number : 72 Question Id : 4928632312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

o
. 1 :
If _[ % Tt ATan Ve B Tl 46, then (4.B) =
o +1

| J‘.T4 +1

6

ldx = ATan'x+ B Tan"'x’ +¢ e O0D. ‘(‘4_3) -
X +

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



Question Number : 73 Question Id : 4928632313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

| , 2 _ y 2.9 2 % 2=
If _[r(l+n)log(l+x )dx:F(a)leg(Hx )—ETan R genrgr e il
then F(x)=
| > ) 2 2% "  On
jx(l+x)log(l+x-)dx=F(:r)10g(1+x-)——1"an”"x— ——+—+c
3 ¥y @ 3

003 ‘F(x)-:

Options :
g
X .’{'3
+ -
2 3
l.ﬁ
.
¥ 5 1
+ ey
2 3 3
236
2
© & i
+ +
"3 2
3
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Question Number : 74 Question Id : 4928632314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

If I, = [cos” xdx. then 615 —5I, =

Options :

5 ) D
—CO0S X &5IR X

B .
COS X S1In x

3 .. 2
E0S X SIn X
3 b 4

COS’ ¥ sinx
4

Question Number : 75 Question Id : 4928632315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

log
If f(x)= |C; l , then _[f x)dx =
| - 3
f(-"')z‘OL; IO J.f(.'t‘)dvz
X ;
Options
1 ®

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



==
. €
2. -
> |
e’|1——
e
3 ¥
2 1__1_,
e
4 ¢

Question Number : 76 Question Id : 4928632316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

, o |
The area enclosed by the curves v =8x—x" and 8x—4y+11=0 is

5 .
P=8x—x" 0080 8x—4y+11=0 SF ol & HSS (@Fod ITogo

Options :

125
1:Y 6

32

"

)
PR

36
3 i~

9

2
4 % =

Question Number : 77 Question Id : 4928632317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Question Number : 78 Question Id : 4928632318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

l., +r}i+31‘ =1
/ dr "

The general solution of the differential equation (
x-

(%—I—J‘Jﬂ+3y=l O3 oS80s dEdmo A0E) Tl IS

x dx
Options :
|
y=—70+ 3¢
&
8 ®
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(3y-1)x’ +3y=c
2 ¢

logy—xy=c
3 »

(1+x3]_1-': X+
4 R

Question Number : 79 Question Id : 4928632319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A fanmuly of curves whose equation 1s general solution of a differential equation having
order 1 and degree 3. 1s

1 58800, 3 SEKBM™S EOAS 2.8 w0 S8BT A8 T8 ¢S @cﬁogéf&:éds&u
orRoBd wf Jpre Bodwomo

(g. a. ¢ are arbitrary constants)

(2. 2. C o0 Sr8)3)8 VT Hew)
Options :

2 2
X"+ 4+2gx+4y+2=0

- 2 2 2
X = a“(l—i—_r“)
2 %

I_*.'z = 2((1‘+J;)

"4

w

-
v =4ax

Question Number : 80 Question Id : 4928632320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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The general solution of the differential equation e 1S

dx x+v+1

@__ 1 o3 estedand 5h0Emo SoE), FTE FES
dv x+vy+1

(k. c are arbitrary constants)

(k, ¢ e SSPEyRE RETHe)

Options :
X+v+2
vy =log, :
k
1. ¢
x+y+2
x = log, :
J

> &R

g x=ce’ +y+2

y=ce +x+2
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Number of Questions: 40
Number of Questions to be attempted: 40
Section Marks: 40
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Question Number : 81 Question Id : 4928632321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A nucleus of Deuteron or Deuterium 1s a bound atomic system best described by

Bogaoes BE° dogiidaho Bw¥), ToBESD w8 BIB0IRAS DHESre0 SgIP wond, &
S&ES5 589
Options :
Composed of a proton and a neutron

FErdy 500050 SrgErdso §0n ok
1. v

Spherical shaped

Fosedoes” Gododd
> R

Contains more than two nucleons
Boko¥oB J8S Srg8oirdo EOA G0k

3w

Proton and neutron are bound by electrostatic forces
Pero So0oin Srgitrdy Y S wereB wofodnd ool

4 %

Question Number : 82 Question Id : 4928632322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

A wooden cubical block of mass m = 20 kg 1s measured within an error of 10 g. Its side
length / = 100 cm 1s measured within an error of 1 mm. Then the relative error i the
measurement of 1ts density 1s

a8 8 I7s78 B (553073 10 g &80 m =20 kg SO, T P FEIH
1 mm &%0&° =100 cm i~ 0. ©ondHPEH T°0 FodS Fenthdres® Ko F g
&30 Qend

Options :
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Question Number : 83 Question Id : 4928632323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A vehicle starts moving in a straight line with an acceleration. a =4 m/s”. with initial velocity
equal to zero. After accelerating for time #,. the vehicle then moves uniformly for 7, and

then finally decelerates for time #, eventually coming to a stop. The total time taken during
the motion 1s 10 s and the average velocity during the motion 1s 5.1 m/s. The time taken by

the vehicle during acceleration 1s

a8 THSSn S6¥dp Jowd a =4 /s’ Eddnd’ §dodo PBodR0s. T §dFK0
8. H oo P S TFod, 88 EOET [, Toodin 6D DIGT f; T P
20089808200 BoH BAFE0H. [Hoiros” 808S) Ingo sreo 105 Hodon (Hoiraos

BKe0 3IK0 5.1 NS oSSt THSS0 0800 DOBS 500 Jend

Options :

2S
1.ﬁ

2
‘N
N

1.85
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A body travels in a straight line from point 4 to point B with an initial velocity zero and
uniform acceleration. covering 1 m during the first second and 39 m during the last second.
The distance between 4 and B imm 1s

28 50D S8 Srgos’ 4 Dok $0d B HoGPF FOSK0 LHm Sodosn 868
$08006° HOSFBIr, INEE DEHNS' 1 M Erord) Sodosn DB DES® 39 m Sroe)y
Podredinod. 4508050 Beo Sy drdo meos®

Options :

400
4
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A cricket player can throw a ball with an initial speed of 30 m/s. What 1s the maximum
range the player can throw the ball? (Neglect air resistance. Take g = 10 m/s>.)

28 (538 sbmd 208 30 m/s O 68 VMo, sbrd & o8I IJSKL KB
Tga (MO TG0 BEHFHHw, g =10 m/s?mr S8 5sw)

Options :

100 m

1. %

90 m
>

- 80 m

e 9042 m
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A particle moves in X-¥ plane with x and y varying with time ras x(¢) = 5¢. y(f) = 5¢(27 ¢ .
At what time in seconds the direction of velocity and acceleration will be perpendicular to
each other.

: . . - | 2
XY S00es* o8 Sodn 5o F & T x Dok yeo x(r)=5t. YO =527-t")
Srdodor @HoSre8ned. ¢ 0 I DO Srdmow LETITES wowor O seo (sec.)

;’)Q G odIro

Options :

2

4
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A bullet enters 1n a piece of wood with velocity v,. The resistive force acting on the bullet

in the wood is proportional to V% . If the total distance travelled by the bullet is proportional

to (v, )ﬁ . then the value of B 1s

2.8 20BE S0 V, &° .8 Folg H508) 5°8 ((HR308. Togs’® B HAV0S0 IS EEwe B0

P & ehe SrbdEost tot. mBE BairBods Bngsn ErgE (v,) &
OGS ErSPE0S® G0, B Iens

Options :
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A mechanical system consists two springs of stiffness coefficients k; and &,
connected 1n series. The mimmimum work to be performed on the system to stretch it by
Al 15

2.8 OSrol®F 55538 Ky 500050 k, DY hesen §0h FBS* Sodwds ok RyFOK
50N &H)B. & 3550 Al & FEBDIBHB, T BoHIedS EIQ B

Options :
-}; -——-A"'l "'E N
Z\ K T+K
| & 1 2
ki ky Al
> R
L L PV
k +k,
3 %
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 89 Question Id : 4928632329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

A block of mass 5 kg 1s pulled by a force F as shown in the figure. If the coefficient of

friction is 0.1. then the force needed to accelerate the block to 3 m/s* to the right is
close to

DL0S" Brdd dFom 5 kg |BSgoraie wf &0y F wwod ordad. odee ego 0.1

wond, 805 $83Y 3 M/s?SEno BoBoSTIE TIORS weBw0

2N

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : 0
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A particle of mass “m” kg moves along the X-axis with its velocity varying with the distance

travelled as v = kx? . where £ is positive constant. The total work done by all the forces
during displacement of the particle from x =0 to x =d 1s close to

‘m B5goate Endn Xwfo Joud Erdes SrHd) 3o V=i’ Hairsineb.
)0 kol §& Yorosdn. §e°Q) x =008 x=d § FIodo MIoAVIYH, o) aorw

S0 28R Jogo B e

Options
mk?>
2
1 s
+ 2
mk 725
>
>
mhk>
2[5
3 b4
mhk>d
2
4 % p
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The masses and positions (in rectangular coordinates) of four particles are as follows: 1 kg
at (a. a). 2 kg at (—a. a). 3 kg at (—a. —a) and 4 kg at (a. — a). The position vector of the
centre of mass of the system of four particles is

Tl Sero (BHgordes $oBckn Forws (250E%E0h IBTosTwn) S eI
1 kg. (a. a) 58, 2 kg. (—a. a) 3§ 3 kg. (—a, —a) $& $o6c5w 4 kg. (g —a) $§ wand,
& Toolb Bero SgIY (BIgo78 SodY TS S8

Options :
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A solid sphere 1s rolling without slipping on a semi-circular track of radius 10 m as shown
in the figure. The radius of solid sphere 1s much smaller than the radius of semicircular
track. At the lowest point. it has a velocity 10 m/sec. To what maximum angle 6 from the
vertical will the sphere travel before it comes back down? Neglect the rolling friction
between the sphere and the track. (Take g = 10 m/sec?)

28 DITFIR dLod” drad Ador 10 m rgrfolio offHersd b Eom
E68:08. HIFEY TgEsn eSTEE ot TgFT bl e DHB. IS Dok
& = 3o 10 m/sec. AE¥Sn BFRHIBTS" (II8K) HOIE T8 Sovodh ©b
ﬁ%d?ﬁéméﬁ WOIN H0R2 Sl (erbofo o8 Hoggie §O0R Hodsaido DdBohoBw,
g =10 m/sec’ &85 50)

Bh

Options :
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A block of mass (10 @) g. where « is a constant, 1s moving with velocity 3 my/sec to the
right collides melastically with the block on the right with mass 10 g and sticks to 1t. The
right block 1s connected to three springs as shown in the figure. The spring constant of each

1
spring 1s 2 N/m. If the amplitude of the resulting simple harmonic motion 1s m m. then

the value of &z 1s

2.8 &30 (10 @) 2835072 (2o 0B PET3) EOA HEJYHIL 3 m/sec IKod® Boiredido:

839500 10 g BSg073 o H3E wRETIE vPIrdln Tod TIE By F&od.

B8 B30 D0S" Wrad IPom oy Pyohose éoa&é&’}w DT, DS (@yoh G3n&),
1

2511}.

@yoh Porosdn 2 N/m. eHhh 07 508 I8¢ Ford)E HdY Fod JHoWs

WONB, A DD

T IOV ——
{7 S 10 " "

Options :
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N\ |
The mass density inside a solid sphere of radius R varies as 2(r) = g, [}E) .where p, and

B are constants and r 1s the distance from the centre. Let E; and E, be gravitational fields

E

: R :
due to sphere at distance — and 2R from the centre of sphere. If == =4 _ the value of B s

2 E,

B
}‘
R grdoifio af INEY (Bg0°8 Fodd o 00 grifod’ p(r):pa(i) -

3808, R Py H0a5n f oo FEorHen 8w I8 F¥o So@dn od

R
Er850. FFéo S o) BoEdn Sood S $08c8n 2 RErores” hddgeres Ky So0ain

E
E,m™ &J. fz=4 ®ond, f B Goddodd Jend
1

Options :

2
1 #®
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‘N
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The pressure to be applied to the ends of a steel cylinder to keep its length constant upon
raising its temperature by 100 °C 1s
(Thermal expansion coefficient. oo=11x10-° /K, Young’s Modulus = 200 GPa)

28 &8, "cao;?‘.l & S0 100 °C 080 0odSY&, T°0 &) ?c_gdorr" God58508, T
D380 HIPS50 BoDIOVS B350
(ﬁéﬂ“g?:ﬁmmééﬁw, a=11x10"° /K. ool He€Sn = 200 GPa)

Options :

0.22 x 10° Pa
1. v

5.5x 10°Pa

25‘2

0.22 Pa
3 “_

55 Pa

4.2
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The root mean square (rms) velocity of an ideal gas at a temperature 7'1s v. If the temperature
1s mcreased to 4 7. the rms velocity of the gas 1s

T&PES 3¢ e 888 Tosnd 5§ HoGgs Sare 365w V. aFEsse 4 T8 DodSY®,
6 TSP 5

o] A’J.Jég;‘io Borerani S

Options :

Y3V

VB
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A glass beaker contains 200 gm of carbonated water initially at 20 °C. How much ice
should be added to obtain the final temperature of 0 °C with all 1ce melted. if the mnitial
temperature of ice is —10 °C. Neglect heat capacity of glass

[Use : Cyper = 4190 J/kg °C . C, .. = 2100 J/kg °C . Ly = 3.34x10° J/kg]

o8 mar D86 O 20 °C 58 Ko 88)0880md00S 200 gL £0h & HB. & AL &
SFESS 0°C m 0658508, —10 °C SRS 5¢ Ko Do ©b Fom st
Jod Fnssns’ IBE LodsBMH

= 4190 J/kg °C, C;. = 2100 J/kg °C ,

water

(rer J3Sragd) DS PBowodn C
Ly = 3.34x10° J/kg m a&&%o52)

Options :

O
: ol 47 gm

76 gm

200 gm

22 gm
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Heat loss takes place from a body maintained at a temperature of 400 °C to the
surrounding air at 30 °C by convection and to the surrounding surfaces at 30 °C by radiation.
The Newton's cooling coefficient is 20 W/m? K and the Stefan-Boltzmann constant is
5.67x108 W/m? K*. If the rate of heat loss by convection is equal to the rate of heat loss
by radiation. the emissivity of the body surface 1s

400 °C &S 3¢ oS .8 S od 30 °CIG o ol HBIEMOSTAE 0I5 S50
oo, 30 °C Sgre S036 S8 DEG0 T GRdRHt0 2heE0d. Srgbods 380800
Koeagdn 20 W/m?* K Sodain Rare-5* G850 DT 0EI0 5.67x1072 W/m?2 K*305585%
Teo° 280 GRdiol D8Emo TTe 2k GRISPOLE JSrIF8, © SIS
el

Options :

.. 038

, u 0.46
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A Carnot engine absorbs heat from a reservoir maintained at temperature 1000 K. The
engine rejects heat to a reservoir whose temperature is 7. If the magnitude of absorbed heat
1s 400 J and work performed 1s 300 J. then the value of 7 1s

o8 5°8) oogdn 1000 K IS8 o edofodn 0od eddnd Wrdgod.
& oo@dn T e o sIcirds Qo ISQohd. Hrodd Gy H0Srealdw
400 J 558050 IS 3 300 J 0o, T dend

Options :
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750 K

3 &

1750 K

4. %
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The mean kinetic energy of monoatomic gas molecules under standard conditions 1s ( E1> .
[f the gas 1s compressed adiabatically 8 tumes to 1ts initial volume. the mean kinetic energy

[iA

of gas molecules changes to (.1'52 ) The ratio —+ 15

(E1)

PEr0 DD, wE JESESrE v St K82¥8 (E;). RTEE BI§00S* Fraing

TR &9 DIH0Sre7I8 8 Téw DoRENSN BUSYPL & Jroln LYo DKt K8=¥§

- E
(E:,) m ArSH&od. < - QG J0d

(E1)

Options :
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The speed of a transverse wave on a string 1s 160 my/sec. If the three resonant frequencies
of this string respectively are 160 Hz, 240 Hz and 400 Hz. the length of the string 1s

o8 dol@ 8UgE Sdor S& 160 m/sec. & So@ BwE), Hord HTE FS:HIgen
563 160 Hz, 240 Hz 58050 400 Hz wonss, & do@ 263
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80 cm

b 100 cm

160 cm
%

200 cm
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Consider a concave mirror of 10 cm focal length illuminated by an object kept at a distance
of 25 cm. The distance at which the image is formed and its magnification respectively are

10 cm Srergogddnie PEred E6Q), TR Sod 25 (m Srdod’ ¢odd SHIHT

REJB0MIONT . E8NowEN IGYE Erdin b T sdPStner SHIm
Options :

16.7 cm and — 0.67

16.7 cm 508050 — 0.67
1. ¢

7.1 cm and 0.29

7.1 cm S08asw 0.29
g R

—16.7 cm and 0.67

; x —16.7 cmSodain 0.67

7.1 cmand —0.29

7.1 cm S8acH0 —0.29
4. 74
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Two objects Pand Q are placed at 10 cm and 30 cm in front of a convex lens of focal length
20 cm. The correct option for the image of P and O 1s

P 5o0cin Q&3 Bod S&dose 20 cm Srergoddsn o o8 Sogrsdsighn S
S6Sm 10 cm Hododn 30 cm dordos” o, P odddn Qo ($éowredh S8a38

aa&géa’)oo
Options :
P - virtual and inverted ; O -real and upright
P - 085 $08050 do§oloworn 0 - Q23 Hdodw Verdm
1 ®
P - virtual and upright O - real and imverted
, P-udg o005 derdon Q0 -z Ho0050 SoBoloent
2.
P - real and mverted : Q - virtual and upright
P - Q2 5008050 dedodenm; O - Wy 508350 o
3 ®
P -real and upright : Q - virtual and imverted
P -2z 508080 dErdom: Q - &g 2ddw doodoworm
4 R

Question Number : 104 Question Id : 4928632344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Calculate the mmimum thickness of a soap film (» = 1.33) that results in constructive
mterference in reflected light. if the film 1s illuminated with light whose wavelength n
free space 1s 532 nm.

BrdgSnes® 532 nin $80i3E gore 5°08T ol day) PSS (n = 1.33) HEHB0 BOSYHd
STHES FoBS® BoFUE S5BECBD 2ONSE. Gand © Huy D EI H0B5w

Options :

113 nm
b 4
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100 nm
>

200 nm

226 nm
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A thin spherical shell encloses a concentric solid sphere. The radius of the shell 1s (0.06)% m

and 1ts surface charge density 1s 107 C/m? . The radius of the solid sphere 1s (0,()1)% m

and its volumetric charge density is 3x10™C/m’. €, is the permittivity of free space in

C? /Nm”. The electric flux through a spherical surface concentric with the spherical shell
and of radius greater than that of the shell. in V. 1s

w8 Dood Fesd EG)Jo JEB0BE DIFTR) s5)B50 BISE. §6)8Y FgdgSw
(006} m S0k T0 So B FoEs —10°5C/m?. wIFEH g (0.0)F m
50050 0 HIBETErEE sIIFEE X100/’ € 38 SmEEH BOWIES
(C2/Nm® o) Fess EG)850E° 8 BoBED T TgFYInEoB I8 IS Frgrgoife
Fesrddoo Do XY IS ePITHrdn Vm o'

Options :

0.47x10~"
o

0.87x1077
o

1.27%x1077
o
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1.67x10~
=)

4
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A conducting sphere S; of radius r, 1s connected by a conducting wire to another conducting
sphere S, of radius 7, where 7 = 3 cm and , = 2 cm. Before they are connected, S; carries
charge of 10 units. The electric potential at the pomnt which 1s at a distance 4 cm from the
centre of S, and a distance 3 cm from the centre of S, 1s

ragFrgo o 5 O3 TTE o) wl T8 8K oo 1y TgFrgolio S, 03 &8 5E
A8 8O0T. [F)e 1 =3 CM S08c8w 1, =2 CNl. 5035708 oot S, 10 Bdorero
S3TA) 80N &dB. I;Bo@sn od 4 cm SrdSng® Hoddkn S, Sodhn Sod 3 cm
Srdos" o wf Doty I8 Ho s FBIcHS

Options :

1 1y

dre, 6

1. v

E 3
4;3'60 2

> &

i 1

4re, 6
3 % -

| 1
drre, 12

4 ®
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A 500 Q resistor connected to an external battery is placed inside a thermally insulated
cylinder fitted with a frictionless piston. The cylinder contains an ideal gas. A current 7 of
200 mA flows through the resistor as shown in the figure. The mass of the piston is 10 kg.
Assuming g = 10 m/s? the speed at which the piston will move upward, due to heat dissipated
by the resistor. so that the temperature of the gas remains unchanged 1s

et L8 $0DS 500 Q, EETQ) HdedrE Swheso E0h GhpodEsn 3OS of
STHENS" HLBNE SrbS Do GoDTH. KrHINS® BEGTENY GHB. Swhoto
G558 10 kg, & SES0bom =200 MA © DEogS BHTHE0 BITH08. I EESD
258008 3850 TowY SIS SrEer GodmIE Snvhoko D BIS D 348"
JASTINTT STeTA)

(g =10 m/s?)
L/
F g
L/
P
f
f
% 7 T B I
I A
| |
II
Options :
10 cnv/s
1.
il 15 cm/s
3 » 20 cnvs
- 30 c/s
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A cylindrical shape resistance 1s connected to a battery with emf 57. The resistance per unit

o
. X : .
length varies as p(x) = p, (z) where p, and o are constants and x is the distance from

one end of the resistor. The magnitude of product p, L 1s 10 €. where L 1s the length of the
resistor. If the thermal power generated by the resistor i1s 20 W. then the value of o 1s

L8 STFsEY A6EsQ) SV emf Ko Jodrd8 SOV, |PSored &Y IS0

o
p(x):po(%) ™ SrSdod. aWe P, S0 A ed RETHe, x oI ITEEY o8

RS0 0ol Erddw. ATEEY DAY L ©ondYio p, L on S8Sreedn 10 Q. 95°EES0
20W 229 #530:3@1 SEHONS, o Jd

Options :
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Consider a current carrying wire shown in the figure. If the radius of the curved part of the
wire 15 R and the linear parts are assumed to be very long. the magnetic induction of the
field at the point ‘O" 1s

HL0S® TrHd Do g PRI EONEND) el 8K Hodohdon. 8K JEBarid
TEgEn R 50050 BPaH ren Tor FEJSD 058, ‘O Dok 3¢ Ko LED
ST E L REE TRl 1 {08V

1 ¢

Question Number : 110 Question Id : 4928632350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A charged particle moves with some initial velocity along the direction of external magnetic

field B. Now if we apply uniform electric field perpendicular to the magnetic field. the
trajectory of the charged particle will be

TTg LAY 08 B850 B &FHom ol 8338 Edn Fod FOIN0E EGendod.
0,08 FE V8 woom AES FEA)) wDHIPESL TR, SIS S0 WEHIrGH0
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Options :

circle
RS D00

1 P
helix
5&’}3:‘6%@5&3

o> of
cycloid

g WIS F 0
straight line
S8

4 @
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A magnetic dipole is under the influence of two orthogonal magnetic fields. B, =0.5x10"T

and B, =0.866x1 0T . Ifthe dipole comes to stable equilibrium at an angle 6 with respect
to B, field. the value of 0 1s

08 B0 08 BGHEN Tokd ©owE'BoH WAL 08 BT O PFSINS® GHB. AW
B, =0.5x107°T %8050 B, =0.866x107T. B, $&S8om Bggossn 6 Sadn 3¢

DBHBEBE BoS5T, O Den
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A wheel with radial metal spokes 1 m in length 1s rotated in a magnetic field of 05%107*T
normal to the plane of the wheel. If the emf induced between the rim and axle 1s /3000 V.
the rotational speed of the wheel in revolutions per minute is

1 M &35 BEoHS S5 oo SONS w8 SES» & FE 80798 vondI&*to 0.5x107T
2o 08 BIEINS® EIDoWBOHB. Lot Sodotn RWSvw Sy (W[
Q.. = /3000 V eons$Hd, e SED @Fondd, d0TIE Tosn S8 gidearen

Options :

400
1. ¢
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An mitially charged undriven LCR circuit having mductance L. capacitance Candresistance R
will

S0SLT $IISI0VS F'EEY SochosS® (REES L, 3Fvb) € Hodddn A8°¢ES5n R

ORI, &8 oSN

Options :
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JLC

Oscillate with frequency

1 ;
——— DSYSgH0T SoTren B0

JLC

Oscillate without damping if R* < %

R’ <%- ©o0d, B3 E5NBHoT GoTen BB

Oscillate with damping if R* > %

R* :>% won8, BIHE FoTw Ko

Oscillate with damping if R < %

4L
R* d? ©OoNS, B30 FoTew R0d

4 ¢
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An electromagnetic wave having frequency 4+ 10'* Hz is passing through a small volume.
The energy contained in this volume oscillates with frequency

w8 Ddogsaiodm o8 SGondn 4x10' Hz FS:hsghon 80 Q&) o808 Sreoiom
SR, & HIN0Ir00S” Ad &) ¥§ Iw FoTro FPS B0
Options :

0Hz

1 ®

gcollegeduniaa

—



4x10' Hz
> B

o 8x10'* Hz

2x10™ Hz

4.ﬁ
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Light of frequency 4+10™ Hz is incident on a metal surface of work function 2.14 eV,

resulting in photoemission of electrons. The maximum kinetic energy of the emitted
electrons is [ = 6.63x1073% Js]

S HRoo0o 2.14 eV e Ko &% oo 44101 Hz &:9dgoto 5708 5853085980,
QOEN P SIS0 2H. GToE Jogs (02 Hexds [h= 6.63x1073* Js]

0

Options :

Question Number : 116 Question Id : 4928632356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If a proton 1s accelerated through a potential difference of 1000 V. its deBroglie wave
length is (Given m = 1.67x10" kg, h = 6.63 x 107 Js)

2.8 (@Ferdody 1000 VBoHhé Sdo oo §i8388m0 BISE, o &' S5oiBg gdn
WDO0D (lllp-—- 1.67x10%" kg, h=6.63 x 10734 Js)

Options :
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9.1 x1083m
1. v

9.1 x 10" m

o &

1.09 x 107> m

3 %

1.09 x 107> m
4 w

Question Number : 117 Question Id : 4928632357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
In uranium radioactive series, initial nucleus ***U,, decays to final nucleus **° U, . In this

process the number of a-particles and B-particles emutted are

ciBcHo BERrTEE Fde, BB, 08088, 20U, &6 Bogkorm §ossors.

& PBoH S wrdSio o-fre 0oy P-¥ere Sopgen SEOIT

Options :
8 and 3
8 50850 3
1 %
I6and 6
5 16 580350 6
16and 3
2 % 16 5580350 3
S8and 6
- 8 08050 6

Question Number : 118 Question Id : 4928632358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Determine V. in the following Silicon-based transistor circuit

Bod RVOFQ LrQRd S0chod” V pIend

Options :

6.8V

4. v

® VCC
+10V

Question Number : 119 Question Id : 4928632359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : (
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The voltage-current characteristic of a diode during forward bias i1s given by
1=7.8x103590 . where [ is the current in mA and V}, 1s the diode voltage in V. The
dynamic resistance of the diode 1 €2, when the current 1s 4 mA. 1s

08 EBrE YSHDNS wBrSS0HYPE, T IJ2-IHISBTITY vHogar)
1=7.8x1075e59 ™ asas6. age od3d I&gs STFsn MA os® 508050
V038 68786 5782 Veos® ok, s @Dardrdn 4 MA 0addd, EBrs (8
QT EI0, Q o&°

Options :

. 186

. Y

28.2

2
s
2

4. v

Question Number : 120 Question Id : 4928632360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The height of a transmission antenna is 49 m and that of the receiving antenna i1s 64 m.
What should be the maximum distance between them for line of sight transmission?

o8 (D8 S35 IR 49 M HBSw (THE eIT I 64 M. SR0P PFT I8 TEIE
GogS0DS 0D Srssn

Options :

R 50.1 km

53.6 km

>

43.6 km

3_2
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Question Number : 121 Question Id : 4928632361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : 0

When uncertamity in position and momentum are equal. then the uncertainity m velocity 1s

P2 0

et

Options :

1 |h
2\ 7

1 |h

2m\ &

3

o
, |

(¢
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2. |—
4 % n

Question Number : 122 Question Id : 4928632362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Which of the following are correct?
a)  Electron density in XY plane for .dxg_}rg orbital 1s zero

b)  The energy of 3p orbital 1s higher than the energy of 2p orbital
¢)  3p,orbital has one angular node
d) 4f orbital has no radial node

§08 FHS' D JODIY?

a)  d,_» sfrsh XY $00s° JogS FoEs Boi)

b) 3pesdird 48, 2p sdrd §8 o8 I8
¢) 3p,u0\irdd ol §'80h & wotnod
d AHstrdsH BGahd J& B

Options :

a.b.c.d

1 ®

b.c.a
& w~

g o 0,00

c.d.a

Question Number : 123 Question Id : 4928632363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What 1s the correct order of atomic/ionic size for

58S/ ©APIE D SOGS ESoBw
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Options :

Cu"<Cu<Zn* <Ag
1 ®

5 2p Zn** <Cu*<Cu<Ag

Ag<Cu<Cu*<Zn*
3 ®

Cu"<Zn*"<Cu<Ag
4 ®

Question Number : 124 Question Id : 4928632364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Identify the correct statements from the following

a)  The dipole moment of CO, and BF, is zero

b)  The dipole moment of NF, is higher than the dipole moment of NH,
¢)  The dipole moment of HI 1s lower than the dipole moment of HCl

8ol T8S” JOGDS ¥t Hfodod

a) CO,S000850 BF;o &gghd @gradosldn o8

b) NF;&qe0d prdoshn, NH; &gl @erdogdn o8 J8.S
¢) HI&qES rdogdn, HCl &gghod erdoddn 508 8503

Options :

a.C
1. ¢

a.b

E.R

b.c

3&*

a.b.c
4 b4

Question Number : 125 Question Id : 4928632365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0 .
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Identify the pair that is not 1sostructural

D0 AT B zobd Hgowod

Options :

~, PCLBIF,

CH,, SiCl,

Q.R

- CO; .NO;

)
. AIFS. SE,

4.

Question Number : 126 Question Id : 4928632366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the odd- electron molecules from the following

o8 ES" Tdopg JOFR wmPod Hloted

C,H, SCl, NO N NO

—

(a) (b) (¢) (d) (e)

J
-

Options :

w
&
g
-

Question Number : 127 Question Id : 4928632367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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The ratio between the RMS velocity of N, at 200 K and that of CO at 800 K is
(molecular mass of N, = 28 g mol™'. molecular mass of CO =28 g mol™)

200 K 5¢ N, %8050 800 K 5¢ CO o RMS e 248
(N, @e0erdo =28 gmol™, CO wengrdo =28 g mol™)

Options :

1.00

it
h
o

Question Number : 128 Question Id : 4928632368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

For a fixed mass of an 1deal gas the correct representation 1s

QoD BH0°8 Ho s8I o5y DO A6?

Options :

1
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" T} "[‘:
,Z——I.
¥
_ L>T,>T,
P Fa

Question Number : 129 Question Id : 4928632369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The amount of iron (Fe) in g which can be produced from 600 g of magnetite ore 1s
[Atomic mass of Fe : 55.8]

600 g © SrHBE S0dpluhn od e oddg oés (Fe) 855078 g os®

[565me $S550°8 : 55.8]

Options :

450

1. ®

379

Question Number : 130 Question Id : 4928632370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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If stoichiometric quantities of KMnO, and K,Cr,O, mixture is added for the oxidation of
Fe?" to Fe*" in acidic medium. then Fe** will be oxidised

s505ri8os” Fe2* & Fe¥' mr e§gdndn maohi Fons'aow $odrare KMNO,
58050 K,Cr,0, dogdodods §0039%, Fe* eshisosn
Options :

Equally by KMnO, and K,Cr,0,

KMnO, 56050 K,Cr1,0, 08 dsrsom adrb

1 ®

More by KMnO,

KMJJO4 S B IT 28
> o

More by K,Cr,0,
K,Cr,0, & 3805 2268

3 &

No reaction

zﬁég 2280080
4 %

Question Number : 131 Question Id : 4928632371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

A sample of argon of 1 atm pressure and 300 K expands reversibly and adiabatically from
1.25 dm’ to 2.5 dm?. Calculate the approximate enthalpy (in J) change

[1) C_ for argon is 12.48 JK-. ii) Assume argon to be an ideal gas. ii1) AT = 111.5 K]

300 K 50805 1 atm Dgdo 3¢ esors 1.25 dm’Sood 2.5 dm’ s 5% &) Sosdaom
Tg8 W0 Bohod. TSR ol (J 0&®) & B8 oFod

[) soolse C,=12.48 JK™. i) 808 sdd)araing ol esossodn, iil) AT =111.5 K]
Options :

20.9

l_ﬂ:
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117

>

5 % 234
58.5

4 ®

Question Number : 132 Question Id : 4928632372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If equilibrium constant of a process 1s 3.8 x 1073 at 25°C. standard free energy change of
the process 1s
(R=28.314 T mol™ K-, log 0.0038 =-2.42)

25°C 3¢ @8 @HBoD dHoeQs Horoddn 3.8 x 10 wond, HBaH& Wirn NoIEs”

e -

ul

wd:g
(R=28.314 T mol™ K. log 0.0038 =-2.42)

Options :
: 5.7 kJ mol™
. 9.9 kJ mol™!

13.8 kJ mol™!
3

15.6 kJ mol™!

Question Number : 133 Question Id : 4928632373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Which of the following compounds give basic solution on hydrolysis?

808  IZWTew 2eJFTLHN Bod FY THTrodH QFow

a) NH,(CI
b) K,CO,
¢) Na,B,0,-10H,0
d) Na(l
Options :
a.b.c
l.“‘
b.c
>
- b.c.d
c.d
4 ®

Question Number : 134 Question Id : 4928632374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Hardness of water is 200 ppm. Calculate the molarity and normality of CaCO, of the water

Q8 57858 200 ppm AL Bwg), CaCO,; I8l S8 07 PB ol B owodw

Options :

4x10°M:2% 103N

1 ®

2x10°M:4x 10> N

> R
. ¢ 2x103M:4x103N

1x103M:4x103N
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Question Number : 135 Question Id : 4928632375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which pair of elements on combustion in air give superoxides?

f

@ NP0 BED MOS” N0BONIYE Jrdb wdeen :Db’géaé}”m

Options :

1268

K.Rb
2. ¢

Li.Rb

W

K.Li

Question Number : 136 Question Id : 4928632376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

When borax 1s dissolved m water, the product formed 1s

¥4

Sof ABS SBR0DVIYE AGYH GBS0

Options :

H.BO

3 3

J

Question Number : 137 Question Id : 4928632377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: (0

SiO2 reacts with

SiO2 DS WEgT 000

Options :
H,SO,. HF

1. %

HE, NaOH
N

Na,CO,.NaOH
g T

o\

Na,CO,.H,SO,

4.3

Question Number : 138 Question Id : 4928632378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Pure water would have a BOD value of

BOD Dexd

&)

HSS

[ ) N
Options :

about 1 ppm

sémym 1 ppm
1. ¢

5-10 ppm

23”%

10-15 ppm

15-20 ppm

Question Number : 139 Question Id : 4928632379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Tropolone 1s

KHS’Y I8
Options :
benzenoid and aromatic
. Bo2Tond 00050 857838
1
non-benzenoid and not aromatic
TS-BoRTAE 08050 I6°S57¢E3E 5208
D “
non-benzenoid and aromatic
2 T R-BORT0NE 0005w A6 S35
3,
non-benzenoid and anti-aromatic
TS-BoRToNE 300050 05r03-05°5E38

Question Number : 140 Question Id : 4928632380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Newman projection of staggered conformation of ethane is

$B0 OIBgY Erd8o Boo¥), Sorgdorn (I8D¥0

b

Options :
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H
H
H B2
2> R
H
H
H
H H
3 ®
H
H H =
4

Question Number : 141 Question Id : 4928632381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

2-Pentyne on reaction with sodium in liquid ammonia produced compound A. What is A?

2-2083% o370l ($50S° &8 FEoD0S® HUg wHIM ST0p¢SS0 Abd&&ﬂ&.

ADD?

Options :

n-Pentane

D-wo8o
B 4

1-Pentyne

-2080
1 —

25&

c1s-2-Pentene

L D85-22088

-
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trans-2-Pentene

o G R)-2-208 S

Question Number : 142 Question Id : 4928632382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A solid has hep lattice. Atoms of Z (anions) form hcp lattice. Atoms of X (cations) occupy

all the octahedral voids in the lattice. Atoms of Y (cations) occupy half of the tetrahedral
voids. What 1s the molecular formula of the solid?

a8 NISTgSn hep =rostd) 08 &b, Z S8Srendhen (ASdSraen) hep o)
Y00, Xédéﬁrm@m (srloairaen) reBod ' ) BT @S JoTrud B0
Famow. Y dfdranyen (Losrsen) Sho BErodd Sogrodn eEdoowssamon.
28 HTEY) LT I8?

Options :

Xy3YysZ

l.ﬂ

Question Number : 143 Question Id : 4928632383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In an experiment to estimate the molecular weight of benzoic acid by elevation in boiling
point method. the experimental value of molecular weight was double the actual value.
Calculate the degree of association of dimer if the elevation in B.P. 1s 2°C.

AR TR GHBDHABrNoD) Do ows 8h Vet ) ST D RAr(oS” RAFTEE
@080 TR AP g8 BPoYm STrdd Banod. FrHSS IS e 2°C
@008 B JTUdE eI 8 0d

Options :
gcollegeduniaa

—



Question Number : 144 Question Id : 4928632384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

2.0 g of a non-electrolyte dissolved in 100 g of benzene lowers the freezing point of benzene
by 1.2 K. The freezing point depression constant of benzene is 5.12 K kg mol™. The molar
mass of the solute is

BABFE DTG0 EBA0NIYE BokS JAFIS FSo 1.2 K
5 B0 Horogsn 5.12 K kg mol™. rdgsn wemverdo Jod?

2 ¥

120 g mol™
3"

155 g mol™!
4 % -

Question Number : 145 Question Id : 4928632385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The potential of hydrogen electrode of pH = 10 with respect to standard hydrogen
electrode is

Podre @RS Joghddor pH = 1058 @20 JoEé o J08?
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Options :

00591V
1 ®

0591V
2

0.2V

Question Number : 146 Question Id : 4928632386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

Which of the following graphs represent a zero order reaction?

(a = muitial concentration of reactant. X = concentration of reactant consumed. t = time)

808 (MRoS® D &) Edros B Srdyon?

(a= |§Srad8o |PJofmEd, X= AN Fodradso mEs, t= s°00)

a) A b) A C) A d) B
. . : ™
r].': .1'_1 d.’l‘ |
dt =
0
= .
a ’ I ’ (@a-x) t '
Options :
, % acd
- Y =
>
b.c.d
3 ®
, » ad

Question Number : 147 Question Id : 4928632387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Fog 1s a dispersion of

A JeDHn FHSvow (Fog)?
Options :

liquid 1n liquud
i B$S50S* ($S550

solid in gas

TORYHS® HodBw

gas in solid

DON0ES” TS0
3 ®

liquid n gas

F50YHS* (BS0
4 &

Question Number : 148 Question Id : 4928632388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following reactions is used for Mond’s process of metal refining

8o $EgeS® B Irol JEES® STTFETR) BeoYBI0H?
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.2[A11(CN)3]_ +Zn——2Au +[ Zn(CN), |
) & (aq)

5 F=4

7ho + 008 son +10
3 b4

Fe,0,+CO——2Fe0+CO,
4. x

Question Number : 149 Question Id : 4928632389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The most acidic among the following compounds 1s

Bod TES® IO vEHE WS HEB & ?
Options :

NO

2

& P

, N0,

w

N,O,
4 %

Question Number : 150 Question Id : 4928632390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Oxidation states of S m H,S O, are

H,S,0,&° S Guog) w8 )8deden

Options :

[ ]
gcollegedumas
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IV. IV

VI, VI
v

™

II, VI

I. VII

Question Number : 151 Question Id : 4928632391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Identity the number of complexes that are optically active

3+

'[CO(en)s] [Co(NH; ), Cl, | :[ CoCl, (en), ] Co(NH), (NO, ), ]

.
&

§08 S03TOS” AQ) 1Pl Fdl REG)Tow
{Co(en )3]EH [ Co(NH,), €L, | :[ CoCl, (en), |:] Co(NH, ), (NO, ), |

Options :

0

1. ®

w
N
2

o
&
()

Question Number : 152 Question Id : 4928632392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (
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Statement (a) : Co*" has higher magnetic moment than Cr**
Statement (b) : Tonisation enthalpies of Ce. Pr and Nd are higher than Th. Pa. U

D580 (a): Cr3* 808 Co* & 88 wohamod @rdodsdn wotnod
D58 (b): Ce. Priodasn Ndeo echsss Jogrdyes Th, Padddin Ue $08

B0 GotIroD

Which of the following is correct?

808 TES* A8 JHOSHIB?

Options :
Both (a) and (b) are not correct

(). (b) en Bodkr HOKD 5°F
1 ®

Both (a) and (b) are correct

- (@), (b) 0 Bodr H083ND

(a) 1s correct but (b) 1s not correct

(a) $85088, 52 (b) JHOFoid 5
3 &

(a) 1s not correct but (b) 1s correct

(a) $BFSB 3¢ 5 (b) HOSRHEE
4 <

Question Number : 153 Question Id : 4928632393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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The schematic illustrations of macromolecules given below represent

Bod 2Ig2bS YFPoho IEFTEE IS IEI drAFow?

(A)
e o i B
(€)
Options :
A B B

HDPE LDPE Bakelite
HDPE LDPE 3§3&

A B C
Bakelite = HDPE LDPE

ZESE HDPE LDPE
> =

A B C

HDPE Bakelite LDPE
HDPE @888  LDPE

3 %

A B B

[LDPE Bakelite HDPE
[LDPE BEBE HDPE
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Question Number : 154 Question Id : 4928632394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Which one of the following structures represent amylose?

o8 TSt IS ESL HrdoHSs 8?

Options :
CH,OH
H O. H
= H
.{_o OH 5
>, H OH
CH,OH CH,OH
H H H H
- H
o H OH H
O
HO OH
H OH H OH
233
CH,OH CH,OH
HO O H - OH
31 H
o H O OH H
H H H
H OH H OH
3.3&

Question Number : 155 Question Id : 4928632395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: (0

The structure of ranitidine 1s

BABAS Bk, AT

Options :

: $-Hy SN
X S
N \”/\ﬁ)k\NHCHE
1 ®

Me.N .
©2 0 S‘\/\:\:)"\

H NHMe

o AN o o fE0e)
e AN s

H NHMe
3 o

CN

\ il
4%{ S\/“x/\E)k\

NHCH,

Question Number : 156 Question Id : 4928632396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Arrange the following bromides in the order of reactivity in undergoing S, 1 reaction

Bod oo Syl I T8 Sorgred EosS” wndob
>—Br A/ Br >_\Br CH,Br
(1) (11) (111) (1v)
Options :
1>1>1>1V
).

IV >11> 111> 1

E_ﬁ

1>11> 111> 1V
333

11>1v>111 > 1
4 ®

Question Number : 157 Question Id : 4928632397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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From the following identify the reactions that give alcohol as the product

§od 78S s PSR GSHhom 2y I6gs Kgotod

(111)

Options :

| ® 1,111, 1V

L1L 1V
e W

1. 11, 111

2

11, 111, 1V

i) B,Hj

k a

B Hzog Aqueous NaOH

(ze)

H,/Catalyst

2

B
F 4

(&@y580)

H,O

b

NaOH

Question Number : 158 Question Id : 4928632398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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What 1s the possible product (P) in the following reaction?

Bod HEges® gy wd$o 62
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What are the products B and C in the following reaction sequence?
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Which of the options correctly represent the basicity for these compounds
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NH,
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(a)

Options :
a>c>b

a>b>c
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NH, NH,
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c>b>a

c>a>b
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